Dividing by 3

se the long divisi ethod to divide the following without remairJde's
15+ 3 = d| 30|+ 3=
18 = 3 = 24 + 3 =
9+ 3= fl 23z2|-2 =
=/

© http://mathskills4kids.com



Solution

— Dividing by 3 )7
L g by

Use the ﬂong division method to divide the following without remair de[rs.
15+3=_ 5 d. 30+3=__10
5 0
3 15 3 30
15 -~ 30
0 0
So)15|+ 3 =5 S0 30 +3 =10
18 + 3 = e 24|+ 3 =
6 8
3l 18 3| 24
18 - 24
0 0
So,18/+3=6 So,24 + 3= 8
923= | 3 f, 2z3+3z= 1
11
3l 9 Z| 3%
C J T
0 0
So/9 = 3= 3 So/33 + 7 =[11
h ___ A
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